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Equations of parabolas in standard form 1

Write an equation for a parabola dagil) o 433 adi ¢ Al<a alad Alalaa i)
with focus at (5,6) and directrix at X = =2 paliaal) e Al ady (5, 6)
the line x = —-2.
Oyzi(x—6)2+15 2
14 '
Ox=i(y—6)2+15 b
14 '
Oxzi(y+6)2—15 e
14 '

1
— 2 d
Oy_l (x+6)-+1.5


asif


Find the center of the equation of

the circle x? + (y — 14)? = 144.

O (0,—14)

O (14,0)

O (0,12)

O (0,14)

Graph circles. (Find Centre) 1

5yial) Alslaal Sl dagl
X2+ (y—14)2 = 144


asif


Write equations of circles 1

A sprinkler waters a circular section cudal) (e giila plad g e ) Jaas

of lawn. Write an equation to Grale 13) iyl ddlaia dgaa Juiadl dlalea (is)
represent the boundary of the (—12,16) Laa jhall -y Jal) cpithadil) o
sprinkler area if the endpoints of a (12,—-16)
diameter are at (—12,16) and
(12,-16).
O x2+y2=20 a
O x2—y%2 =400 b
O x> +y* =400 e

O (x—-12)2+ (y—16)2 =400 d


asif


Which equation represents an ellipse
with vertices at (—3,8) and (9, 8)
and co-vertices at (3,12) and (3,4).

o (x+3)2+(y+8)2=

36

oW=8? x-372_

16

36

o (y+8)2+(x+3)2=

16

36 16
(x-3)? (y—8)°
O =5 16

1

1

1

Write equations of ellipses 1

Ae mj,&afuzéumd‘mmmq;i
xie o\ajal oludys (9,8) 5 (—3,8)


asif


Write equations of hyperbolas 1

Write an equation for the hyperbola bl Jiaal) Al agfjl) adadll Alalea i)

shown in the graph below. oLl
'
8 y
4
(7,0 T\(=5, 0)f (5, 0)/](7, 0)
- - . —
—8 |14 |O] | a\| 8«x
4 \

-8
| Y
¥y :
25 24
2 2
Oy__x_ 1 b
24 25
2 2
y _* c
025 24 1
2 2
¥y ._, ]


asif


Find a solution to the system of

equations.
¥-4)-(x-2)=-2
5x% + 2y =7

O (0,3.5),(1,1)

O (_1: _1)# (1; 1)

O (-7,-1,(7,1)

Solve systems of linear and nonlinear equations algebraically 1

LY aleall ?LEJJS\.-; -\:_h-jl
(y-4)— (x—2) = -2
5x%+ 2y =7


asif


Write x = 3 cos@and y = 5sin@ in

rectangular form.

y X

1+ =1
O35+

xz y2
O5+3x=1
O 9y* +25x* =

Write polar equations in rectangular form 1

Heaalt y =5sinfB3x = 3 cos O
cdaleial) sy (geiwad) B AIGa)


asif


Write a set of parametric equations
for the line with a slope of 3 that
passes through (4,7).

Ox=t—4y=3t-7

Ox=3t+7,y=t+4

Ox=t+4,y=3t+7

Ox=t+7,y=3t+4

Write a set of parametric equations 1

3 ali. e_._\Mﬁ,‘uh:uJ e ales a.c-w Qis)
{(4,7) dhaill ey


asif


Solve vector problems 1

A push broom is pushed with a daghig (fisti 190 Way)aia gis duuiSa ads a3
force of 190 newtons at an angle GlSall ualda aagl . a ) o 33" lalaia
of 33 with the ground. Find the Aoy .88y

magnitudes of the horizontal and

vertical components.

:292.6 N Luji udlls 123.4 N Luyas &)
The horizontal about 123.4 N and the vertical about 292.6 N.

:159.3 N Luj@i udlly 103.5 N Luyis 29)
The horizontal about 103.5 N and the vertical about 159.3 N.
o 103.5 N Luis iy 159.3 N Luyis &)
.C
The horizontal about 159.3 N and the vertical about 103.5 N.
123.4 N L uiilly 292.6 N Lujis &)

The horizontal about 292.6 N and the vertical about 123.4 N.


asif


Represent and operate with vectors in the coordinate plane 1

Find the magnitude of 4B with Aty A3 0585 Guas AB laka dagl
initial point 4(2,—7) and terminal \B(—6,9) ailgi daiig A(2,—7)
point B(—6,9).

O 8V5 a

O 2Ve6 b

O 2\/§ .C

O 2v/65 d


asif


Find the component form of the
vector v with magnitude 24 and

direction angle 210°.

O (-12,-12V3)

O (-24V3,-24)

O (12,12V3)

O (-12V3,-12)

Write a vector as a linear combination of unit vectors 1

Liglig 24 o)sha V dxial LS5all 5y geall a
.210° 4ala)


asif


Find the dot product of two vectors and use the dot product to find the angle between them 1

Find the angle 8 between vectors u={(7,10) cpgxiall Hu 0 2:135]1 gl
u=(7,10) and v = (4, —4) to the G g Y cuiil aa v = (4, —4)
nearest tenth of a degree. A yAl) e Bris
O 6=100.0 a
O 6=170.0 b
O 6 =80.0 <

O e=100 d


asif


Express algebraically and operate with vectors in space 1

Ifx = —9i + 4j + 3k X=—91+4j+ 3k ols 13
andy = 6i — 2j — 7k. Find 2x + . 22X +y dad 329l .y = 6i — 2j — 7k

O —-12i+6j—-k a

O —-24i+10j—k b

O 12i—6j+k c

O 3i- 11k d


asif


Find cross products of vectors in space, and use cross products to find area and volume1

Find the cross product u x v of U XV gaiall qupall @il sl
u=(-2,-1,-3)andv = (5,1,4). v=(514su=(-2-1,-3)
O 23 .
O (-1,-7,3) b
O -23 <

O <3;_7,_1> d


asif


Find cross products of vectors in space, and use cross products to find area and volume1

Find the volume of the o @i U Colbiual) (glsia aaa Aagl
parallelepiped with adjacent edges t=i +j — 4k slaidll gfzbb‘a’i
t=i+j—4k,u=—-3i+2j+7kand .v=2i—-6j+8ksu=—3i+2j+ 7ks
v = 2i — 6] + 8k.

in<abany36
O a

36 units?

azn_{.aﬁh_g 32

32 units?

duaa 53940

40 units3

duaa 523546

46 units3


asif


Find the distance between two points

A(2,30°) and B(5,120°).

O V39

O V29

O V19

Graph simple polar equations1

A(2,307) sikidl) oy Adleal) aa g

.B(5,120")


asif


Graph points with polar coordinates 1

Write an equation for the graph. ) il Alslaa s

O r=3sin@ a
QO r=3sin26 b
QO r=3cos28 e

QO r=3cosH d


asif


Convert between polar and rectangular coordinates 1

Find the rectangular coordinates for P (4 E) Adaiill 4 lCal) cldlaaY) aa gl
’ 2 - - - - % *
" T
the point P (4, E)'

O 40 2
O (0, 4) b
O “9 <

O (—4,0) d


asif


Convert between polar and rectangular equations 1

Write the equation ¥ = 2sin @ in susall A = 2 sin @ Aalaall s
rectangular form. A
Ox*+y*+2y=0 2
O x*+y2=4 b
O x2+y?-2x=0 <

Ox*+y*-2y=0 d


asif


Convert between polar and rectangular equations 1

Which of the polar equations Laleal) Jiad dadadl) N alaal) (o s

represents the rectangular equation ¢y = x2 & sl

y = xz? - -
Q r=cosé6 a
QO r=tan#@sech b
Q r=cotbcsco c

QO r=taneé d


asif

asif


Graph equations of ellipses 1

Which equation is graphed below? Coliaf Lily Aliaal) dlaleal) La
Ay
8
(0, 5)
721\
\

(3,0 ( ) 3,0
-8 |—4\/0 4 8

Xy

(0, —5)
—8
A
_z_y_z 1 a
25 9
2 2
+%=1 b
2 L2
+3:1
2


asif


Graph parabolas 1

Which equation is graphed below? Coliaf Ll dliaal) dlaleal) La
8
6
4
2
e -
—8—6—4—‘20 Y 4 4 8x
—4
—6
—8
Ly
Oy=Gx+4?-6 a
Ox=@w+4)72-6 b
Ox=(p-4%-6 <

Oy=x-49%*-6 d


asif


Use the dot product to find the
magnitude of the vector

a = (12, 16).

O 192

O 20

O 400

Find the dot product of two 1

daiall e slady B ol il pakiud
.a=(12,16)


asif


Plot points and vectors in the three-dimensional coordinate system 1

Find the length of the segment AB, Gus AB dasiiall dakadll Jgh aagl
where A(—4,10,4) and B(1,0,9). .B(1,0,9) 5A(—4,10,4)

O s5Ve6 b

O 6V5 d


asif


Find a pair of polar coordinates that
name the point 4(2,300") in the
interval —360° < 8 < 360°".

O (2,150

O (-2,210")

O (-2,120")

O (-2,30)

Graph points with polar coordinates 1
Qs Al Akl clSiaay) (e o) 2l
548 4 4(2,300°) Akl

.—360° < 8 < 360


asif

asif


